v

1 2 3 4 5 | 6
B EEEEEE ERES T A A1 & & BB - 4 < HEOTNo. B2, RIAE 2—FNo.
AN ES S #Bah : = T
A - A mEHEME &30 | 4000050
A No. B & & W ST AR B f PVEE Ya-t #EERET M8x55
/N @ | 7958& va-p SRR t2.3 HEES EEE R—IL =k
A @ |rm& B EMEE 2.0
A @ | Af# §5KSGAv% M8 x 55 4000050 SmE 1/2 @G
/A @ | D-LOCKtyh $£KSGAYE M8 FEE25 umid k
® | #BAET I £ 7" Av% M8 x 40 ME FmEftt
W& | D-LOCKF 91 KSGIvt N8 TBE25 mEl £ & AIO-TEFRESL | =naes e
HE | shEftEe SUS304 S - (794t2.3. Bt2.0)
. . ez b = rmiEad A EREAR 17/12/15
ED NERESOIENRT v/ BRLEICL £S5 CEBETET>TFAL, - CERTRET
£ BEAE (B&THICHT ZHEE) JIS B 0405-¢ B mm
stk 0.5L1E |3%#R | 6%#B% | 30%B R | 120%#8% | 400%#BZ | 1000% 4B X
X5 3LUTF 6LLTF 30LAF | 1204 | 400LLF 1000LLF | 2000LLF
HEE | 0.2 +0.3 +0.5 +0.8 +1.2 +2 +3
n B I 0 .
[BEf&a]) CARATTY 260 <EBiRE =150~ 240mmxt i >
10 150 45 55
L
8 [ ]
\ \
p 4 | = B |
r == _f | A O |
\ / | @ - o ‘ «©
RN N o N ) Lo
} 12.3 }
P | \ : \
\ WEAT RS AR \
.- - ]
60
12 _ 36 BAR W M8 x40 AR Wb M8 x55 1
D-LOCKfy+ M8 D-LOCKFy+ M8 I
N 1 i
7 a Sks - B
L L (I
| (.
a ] © - 1k
. ,g%_g - & = am
% T ——— =
35 _|_ 30 >/ 3
(59) 65 P LT
(& WhE Y BAIE)
HFTEAR 228
1 2 3 4 5 6




v

o

6

D-LOCKFy b+ M8

NAR Wb M8x 25

D-LOCKFy b MS‘\

1 2 3 4 5 | 6
o FAH EHE3 HY ‘ N H%0%4 No.- 85 & HE A a—RNo.
N B OEEHERCETEERBOHE - Y4 X
C haLs 34— = . T
ﬁ . % 5 & = fmgﬂai % o s = || PVEE va-b HERERM MBx25 &30 4001020
/N @ | 7958& va-p SHEMR 2.3 NEES EE £ RTr—IL E=faik
A 2@ |r#®& B EMEE 2.0
A @ | AfEH I 8517 fv% MBx 25 4001020 ECR YR 1/2 @G
/A @ | D-LOCKyb $£KSGAYE M8 FEE25 umid k
® | #BAEF I £ 7 A% M8 x 40 ME FmEitE
& | D-LOck#sh BKSGrvE N8 FRE25 bl E S IO-TEHRASY | srams e
R | sEitES SUS304 S - (9923, Bt2.0)
. o PR (s 7 b = (iR i . YR E A B 17/12/15
1) SERESOTEAT v I BRLETICLZES CHIBETET>TFEL, 25 =T BE | &
R BEAE (B&TEICHT 2HEE) JIS B 0405-¢ B :mn
hE | 0.5LIE | 3%#X | 658x | 30%#8x | 120582 | 400%#2%| 1000% 8%
B4 | 3T | 6LF | 0BT | 12060 | 40054F | 100084 | 200051 T
HRE | +0.2 +0.3 +0.5 +0.8 +1.2 +2 +3
n B I 0 .
[BEf&a]) CARA T <EBiRE =150~ 240mmxt i >
260
9 o~ 10 150 45 55
8 [ ]
\ T \
~ —
Aj 1) ‘ A _ 1 1 _ ‘ N |___L|-
r == _f | A [0 | o B
\ / | Qs @ — = | T " s
RN A
© | =— 9 @)= 3
T | | N
/ | 12.3 |
T | \ : \
\ EEERNESIA VN \
.- - |
60
12 3 EAF W M8 x40

: A g o Y
— =1 il
35 | 30 ;/% R [ L ===
(59) 65 g S5
v LmT =
£ VhEE L __
el 3 AN GF WhEE[E Y BALE)
258




